H & 0l & AHS B Ml A

SA AL
Zu: C22s o B2
CHel: BtEZ 2o EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
rafain; 32,804,494 27,581,014 5,223,480
= 3,100,000
[ 4,012,000
= 3,105,665
Ea 22,586,829
Cedag 2 2 8,393,276 5,873,782 2,519,4%
< 329,990
= 8,063,286
UBEZ 2o 3,410,000 1,637,000 1,773,000
T EHIALY 700,000 0 700,000
401 Al HIZL 201 700,000 0 700,000
01 Al&H| 700,000 0 700,000
oxEl7ed E2 SHEFEIA
700,000,000 700,000
sHEZZ ZHIAY 1,410,000 1,457,000 A47,000
401 Al HIZ S OHbI 1,410,000 1,457,000 A\47,000
01 AlZ2H| 1,400,000 1,455,000 55,000
oZds otE2e| Flls sHELR &I
3AM 200,000,000 200,000
ouA~EF A2t AEE2 HESA
1,200,000,000& 1,200,000
03 A2 THYI 10,000 2,000 8,000
oE0EER HHIAY Y2xX
10,000,000 10,000
OIE0H ASHE Y= Fhl 1,300,000 0 1,300,000
401 AIEHIZ SR OHYI 1,300,000 0 1,300,000
01 Al&HI 1,300,000 0 1,300,000
o0tE ASHE U2 HHISA
1,300,000,000& 1,300,000
IEEZHH 433,300 200,000 233,300
= 209,990
[Ea 223,310
OEl0l 257 HEAI (HEALY) 100,000 100,000 0
= 50,000
o 50,000
401 Al HIZ S OHbI 100,000 100,000 0
== 50,000
o 50,000
01 Al&HI 100,000 100,000 0
o022 JHAAY
100,000,000 100,000
& 50,000
= 50,000
LOIES A LA (HEALS) 300,000 100,000 200,000
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SA AL
Y CRAM U P2
el AEE2oHA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 150,000
s 150,000
401 Al HIZL 01| 300,000 100,000 200,000
= 150,000
= 150,000
01 Al&H| 300,000 100,000 200,000
ool 2579 A
300,000,000 300,000
=S 150,000
s 150,000
Olgl0l 2279 AEHAL 33,300 0 33,300
< 9,990
= 23,310
401 Al HIZL 201 33,300 0 33,300
= 9,990
= 23,310
01 Al&H| 33,300 0 33,300
SOI2I0 257 AEHEA S
33,300,000 33,300
= 9,990
o 23,310
X224 2e| 4,278,536 3,786,222 492,314
[ 120,000
T 4,158,536
2 |2l 3,098,536 2,786,222 312,314
201 er2 3| 122,946 107,232 16,714
01 At2tlt] 44,946 29,232 15,714
oAlMgY Zea ox
20,000,000& 20,000
o3 NYF 200,000 x5 *23] 2,000
of 3 HYE
170,0002 x4+ 105 6.800
o=nFMHL AIER 3,000,000& 3,000
oXlotite &IINE S 2 4Hl(aE
s, A8, &22&) 2,000,000 34 2 6,000
oH=E NMENY g% Sl
9,000 +724+70 4,410
oERpel 98 =1 3
9,000 ~4E ~76! 2,736
2 5234l 78,000 78,000 0
oLZHE, EXNEY S ZZ2 0™ |RAE>
750,000 x 122 9,000
oAEANE &= 18,000
-HEsEny 100,000& «12& 1,200
-H2Xot Xt 100,000& « 12& 1,200
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PA AL
M T2H4
el SN2

Cr
al

e e

SA - ZE . BR() - HRAR - BES of v G o HIDE2
-2E HZEA 500,000& 122 6,000
-2 St s 500,000 * 12 6,000
-28 B2 200,000& * 128 2,400
L& B2 E 100,000 »12& 1,200
oN&xtd 7= 3,000,000 «7CH 21,000
oN&dH =2 5,000,000 ~6CH 30,000
202 04dl 3,440 3,440
01 2L AL 3,440 3,440
oLZRA2Ae| YR FA
20,0003 x4 43 3,440
203 =] 2,000 2,550 AbB50
03 A=A =TH] 2,000 2,550 2550
oHEUR = 500,000 *4= | 2,000
206 M=l 400,000 400,000
01 MZH| 400,000 400,000
ozRA&AcIS At 20,000
-Z235tE, E2E+8 7 =
5,000,000 4 20,000
oNEAAE Xt 320,000
-NEM(AS, S3t28E 8)
80,000,000& 45 320,000
oN&EXY AHASAHL F:HI
60,000,000 60,000
307 21201 & 20,000 20,000
06 28= 20,000 20,000
oF - H MEXNISAHAL o2
20,000,000 20,000
401 AlZHIZ SO 2,430,150 2,233,000 197,150
01 Al&H| 2,152,150 1,955,000 197,180
o2 B4 608,000
=5 2 sHERZ 2+
600,000,000 600,000
“HadsEd FHEZ FAHA |
8,000,000 8,000
ozl & SHEZZ XM
400,000,000& 400,000
oz 2ZIHl & WSYHF HA
20,000,000 * 1094 2~ 200,000
oL2H ZHI| At 867,000 *450km 390,150
oL ZOMAIZS FHI(EXIE, BIAE, JIE
dle, HREXNE S) 200,000,000& 200,000
o2k Y SHELZZR IIXSEX 243
60,0002 +3,400m* 204,000
oUXE T2UHE 2EAY
150,000,000 150,000
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A AL
i C2H4 o 2
ol RA2E 2

& EERE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 A& S CHYI 278,000 278,000 0
oEZRIALIE BI(2ADI, 82, =£4%
Hl S) &xtz 20,000,000& %35 60,000
cHEXYSE SI(24D], 82 ) Xz
30,000, 0002 *7CH 210,000
osXlEszal A X
8,000,000 8,000
403 AXIEHMSAH=0lH 50,000 0 50,000
02 S 2SOt = & P EF A I 50,000 0 50,000
olIXE =20 B &2l
50,000,000 50,000
405 AtatE = 70,000 20,000 50,000
01 TR ESFSHI 70,000 20,000 50,000
o15E MAZHI (&l 4TI 7Y
70,000,0002 *1CH 70,000
ng FAE= 1,180,000 1,000,000 180,000
= 120,000
= 1,060,000
401 AIZHIZ SO 1,180,000 1,000,000 180,000
= 120,000
Ea 1,060,000
01 AlZH| 1,180,000 1,000,000 180,000
cuYHHIMEH 400,000,000 400,000
S 120,000
o 280,000
ol EHI|HNEY 80,000,000 80,000
cud FA&cl & 25
700,000,000& 700,000
HEE HAsZE 2 270,000 250,000 20,000
HASZE 2c 270,000 250,000 20,000
401 AIZHIX S0HH 270,000 250,000 20,000
01 AlZ2H| 270,000 250,000 20,000
oASZIE dE & Wit
10,000,000 7K 2= 70,000
oHAsZE HEZ AL £X
2,500,000 *407H 2= 100,000
oHASZE B4 & 2ZIHl Al
50,000, 000& »23] 100,000
C2EEGIL 1,440 560 880
C2aelyos #4 1,440 560 880
201 fet=3| 1,440 560 880
01 AtR2t2|HI 1,440 560 880
oERHE =X &2 4G
70,0002 x3E *43] 840
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SA AL
Zu: c22As o B2
&el: E2HEG0L EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
CTRAEE 2 ALY
20,0002 x3& * 1024 600
nSHI Ho 13,182 12,926 256
C2USEIA 13,182 12,926 256
2 WSE XA 2E 13,182 12,926 256
101 e124d| 9,438 9,278 160
M ORINZZ2NSE S 9,438 9,278 160
CWSYXZA UAHI(ZE)
80,2402 x 6 H 1 7,704
oWSHEAL Q12H| ORI (Z2E)
40,1202 +32H 1 1,284
cAHEEE 8,986,880 *5% 450
201 2= 3,744 3,648 %
01 At2t2lt] 3,744 3,648 %
onSE AL et EH|
10,0003 6 +35 2,880
cuSE AL 2gH| 9,000& 96 864
SYALDBHEH| 7,560,586 5,798,132 1,762,454
= 3,100,000
=S 2,625,675
s 1,834,911
s8Ity 6,086,250 4,832,000 1,254,250
= 3,000,000
= 2,077,175
Ea 1,009,075
sYIIEAIZ 2] 650,000 650,000 0
401 AlZHIZ S OHYI 50,000 50,000
01 A28l 50,000 50,000
osHUMI|EAIE UI=SAl 24=
50,000,000 50,000
403 TR SHMSAH=01H 600,000 600,000
02 SIS0t =2 S A A 600,000 600,000
ogmsHESAASU sEIIEAIE Y
600,000,000 600,000
SIS F N E-AEXIF) (HEAIY) 631,250 1,121,000 A489,750
= 542,875
o 88,375
401 Al HIZ S OHbI 631,250 1,121,000 A489,750
s 542,875
s 88,375
01 Al&HI 610,750 1,034,000 A423,250
oatk 2EXF t7al BXE2IAY
610,750,000& 610,750
S 525,245
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FA AL
M Sl MAD| R
Celr sHIIgtxd EER=E)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
[Ea 85,506
02 Zeltl 20,000 85,000 265,000
oA ABXIT HTE AXFalA 22
Hl 20,000,000& 20,000
< 17,200
[ias 2,800
03 A2 THYI 500 2,000 1,500
oMM ABXIT LIPS ANFRIMY 2L
= 500,000 500
= 430
o 70
SUIBHAEHI (P& X Ee-US X 7) (M EAY) 875,000 375,000 500,000
& 752,500
T 122,500
401 Al HIZL 201 875,000 375,000 500,000
= 752,500
s 122,500
01 A&l 824,500 344,000 480,500
oHE WUSXD (P ANHIAL
824,500,000& 824,500
= 709,070
[ia 115,430
02 Zeltl 50,000 30,000 20,000
o2E WSXF tH7al BXEH2AMY el
Bl 50,000,000 50,000
< 43,000
s 7,000
03 A2 THYI 500 1,000 A500
o¥E US X7 -8 BXNIcIM =7
= 500,000 500
= 430
o 70
SIBHAEHI (P& X E -8 2 X 7) (M EAY) 400,000 300,000 100,000
[ 344,000
T 56,000
401 Al HIZL 201 400,000 300,000 100,000
= 344,000
= 56,000
01 AlZH| 369,500 279,000 90,500
o235 HUXT U7PE FXZeA
369,500,000 369,500
= 317,770
i 51,730
02 2/l 30,000 20,000 10,000
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A A4t
M SHMAD|BEEH|
&l =0ty EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
oS3t SYXT UPE FNFelAe 22l
af 30,000,000& 30,000
& 25,800
= 4,200
03 AlE 2 CHYI 500 1,000 2500
oS5t HAXT KR AXF2AY 6L
ESp 500,000& 500
= 430
= 70
s1eHEHI (CHREF XN 2-SH X R) (M SAY) 240,000 63,000 177,000
& 206,400
= 33,600
401 A& B2 20HY| 240,000 63,000 177,000
& 206,400
o 33,600
01 Al&Hl 209,500 63,000 146,500
oN& BAUXT U= BNHIA
209,500,000& 209,500
= 180,170
= 29,330
02 eyl 30,000 0 30,000
oA AT LR BNHIAL 22l
af 30,000,000 30,000
& 25,800
[ 4,200
03 A& SR CHYI 500 0 500
oA& SHKXIF UH7a BXNHeAE SR
=& 500,000& 500
= 430
= 70
s EH(HFEZRNEH-E A7) (&AL 240,000 63,000 177,000
& 206,400
= 33,600
401 A& B 20HY| 240,000 63,000 177,000
T 206,400
[ 33,600
01 Al&HI 209,500 63,000 146,500
o=0| ZYKIF & ZRE2IAS
209,500,000& 209,500
= 180,170
= 29,330
02 eyl 30,000 0 30,000
oS50 =2XF 7= ZXNFHeAE 22l
af 30,000,000 30,000
& 25,800
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S AT
. YLD
Celr sHIIgtxd EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 4,200
03 Al ST 500 0 500
oS0l ZYXP UPE ANHIME 22
= 500,000 500
S 430
= 70
BH==OH & 3,000,000 2,000,000 1,000,000
= 3,000,000
401 AIEHIZ R 0HYI 3,000,000 2,000,000 1,000,000
= 3,000,000
01 AlZH| 2,898,000 1,850,000 1,048,000
osg AMEXF tiIHE A
2,898,000,000& 2,898,000
= 2,898,000
02 Zaltl 100,000 148,000 /48,000
o= MEXF i A 2l
100,000,000& 100,000
= 100,000
03 AIZ 2 THYI 2,000 2,000 0
o2 ST HIAIHMHAIY PP
2,000,000 2,000
= 2,000
e g sIIBH =282 ) 50,000 260,000 /210,000
= 25,000
o 25,000
401 Al HIZ S OHbI 50,000 260,000 210,000
s 25,000
s 25,000
01 Al&HI 50,000 260,000 A210,000
o&AN EEFXF JIHESIE 2EA
50,000,000 50,000
& 25,000
= 25,000
sEEH 1,474,336 966,132 508,204
= 100,000
< 548,500
s 825,836
SIBEHI(AlZ2el el Al8-4E X7 ) (M EAY) 437,500 62,500 375,000
= 350,000
= 87,500
401 AlEHIZ S 0HbI 437,500 62,500 375,000
= 350,000
Ea 87,500
01 A28l 436,500 62,500 374,000
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2A:

A0t
S SHMAD|EHEH|
SE =SS I (ol @)
SA - B CRI(S]) - NISAY - BES A HIm=S2t
oA MEXF AT cIAIE JHE =
436,500,000 436,500
& 349,200
= 87,300
03 AlE 2 CHYI 1,000 0 1,000
ol AT A2 =clAld HE+
A=A 1,000,000& 1,000
= 800
= 200
el =2lAlIE = R2el 108,000 108,000
401 AlEBIZ 200 100,000 100,000
01 Al&HI 100,000 100,000
oX4X ZH)
100,000,000& 100,000
402 QI X201 ™ 8,000 8,000
01 QIZEX= At E 8,000 8,000
o2l AES
8,000,000& 8,000
A EEH(Ex2RE23H( 170,000 0 170,000
& 136,000
= 34,000
401 A& BIZ20HLI 170,000 0 170,000
& 136,000
= 34,000
01 Al&HI 170,000 0 170,000
ol B3KXF E-Z2FRE23 A
80,000,000& 80,000
& 64,000
= 16,000
oA MNP BL2RE23 Al
20,000,000& 20,000
& 16,000
= 4,000
ot KT S22 723 AFY
70,000,000& 70,000
& 56,000
= 14,000
2 MY 125,000 0 125,000
= 100,000
T 12,500
= 12,500
401 A& HILS0HY| 125,000 0 125,000
= 100,000
& 12,500
o 12,500
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SA AL
. YLD
SE RS- SO ITE CERE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 125,000 0 125,000
SISl SHLAL (A A 3HAHXIF)
125,000,002 125,000
= 100,000
< 12,500
= 12,500
MNa=XIAE =X 2el 419,616 649,312 N229,696
201 Ler=23 | 12,816 12,512 304
01 At2teltl 12,816 12,512 304
osHEN A =B A
140,000 * 7204 2 10,080
omQIEEY| 2R XA 24|
9,000& x4 76 2,736
202 04l 4,800 4,800
01 2LHoIH 4,800 4,800
osgJ|g YR A
20,0003 x4 »60! 4,800
401 AIZHIX S0HH 402,000 632,000 /230,000
01 AlZH| 400,000 630,000 /230,000
oL Xl B4 2L3A
300,000,000 300,000
SPSEYNIRCIFSES = 100,000,000 100,000
03 Al 20HHI 2,000 2,000 0
o2l B BASA S =
2,000,000 2,000
SYENot-AIE 7 A2 143,800 138,400 5,400
201 er2 3| 43,800 38,400 5,400
01 AtR2t2|HI 8,400 8,400 0
osHEKGts =S A
120,000& *707H 2 8,400
2 S5=2g4l 35,400 30,000 5,400
oxclANE 3323
2,950,000& «12& 35,400
401 AIEHIZ SO 100,000 100,000
01 Al&H| 100,000 100,000
oF U+ S FLlANEES B
5,000,000 *209H £ 100,000
SHOHCH X S Al & = Xl 2tel 7,920 7,920 0
201 et 3| 7,920 7,920
02 s3=gbl 7,920 7,920
oSS 2J| =22
7,920,000 7,920
sIIEHEHI(AlZ 2|2 AIE-2E8XI7) (M EALY) 62,500 0 62,500
= 50,000
[Ea 12,500
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EA A4
M SOl MAD|BHEY)
el sYSFHY EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 Al HIZL 2018 62,500 0 62,500
= 50,000
= 12,500
01 Al&H| 62,500 0 62,500
oot FAAF AlZ2el =clAE 2+
62,500,000 62,500
=S 50,000
s 12,500
SEXSRE 5,614,040 5,922,480 308,440
sEFFI|EEY 5,614,040 5,922,480 A308,440
FRIEAAY 1,814,040 1,692,480 121,560
201 er2 3| 14,040 12,480 1,560
01 AtR2telHl 14,040 12,480 1,560
oFUHANANY dAXNAT 28 S
9,0002 132 %120 14,040
401 AIEHIZ SR OHYI 1,800,000 1,680,000 120,000
01 Al&HI 1,770,000 1,580,000 190,000
oHHE Ecl 302 =2 EXISAt
35,000,000& 35,000
o9& datdl XMt & 2 =&
SA 50,000,000& 50,000
oMAH X U=t =016 ZEXISAt
90,000,000 90,000
od Y4l KAEOS FXE ZESA
60,000,000 60,000
ogdd =l sX0E =2 EXISA
90,000,000& 90,000
oWl SiaRl BADIS 012 SEATAL
45,000,000 45,000
oZ3H Fdite| A0S =2 ZHISA
85,000,000 85,000
STE AH-S A T2 HEIHZTA
24= 200,000,000 200,000
oS5t EHel HUHUSHE JIgt =83 At
90,000,000 90,000
ozetH Hate| EM0lES =2 L IA
100,000,000 100,000
o=3tY gHEel U2 2 FHISA
40,000,000 40,000
ozatH FAel A0S Hi=2 EXI3At
20,000,000& 20,000
ozeH A& Ga0IS =2 EXISA
30,000,000& 30,000
oS3 Fdite| =X0IS ot EHL T AL
50,000,000 50,000
ot NE =282l 2E0IS YR HEHS
AL &AEH =4 20,000,000& 20,000
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SN AT
mu mEXNY
Cigl: mEFZ)|BEA
S B - SRS - HSAY - BYS of et o
oHAE Wil WHOIS =2 FHISA
40,000,000& 40,000
oTHE MRl ME0IS 52 BHBA
20,000,000 20,000
olAH 24te| FEHOE =2 EXSA
35,000,000 35,000
cxap stele YHOIS oY BEBA
20,000,000& 20,000
odAH ML NAOE =2 HISA
25,000,000 25,000
STE HED| UF0IS 52 FHIZA
30,000,000 30,000
oA =Nl HHIS =2 HHIBA
12,000,000 12,000
olAT Z4te| Ba0lE =2 HISA
25,000,000 25,000
od A HHOES 2 SELESA
25,000,000 25,000
ogf 2&cl SLS0E &HE MEHESA
25,000,000 25,000
oupl BF2 2H0IS oY WEITA
25,000,000 25,000
o el AIS0IES 22 HEHSA
25,000,000 25,000
ogd® =32l E=3012 == HUISA
25,000,000& 25,000
odM g42| A0S =2 AXISA
22,000,000 22,000
o O] LHOIOHS AY2 THEESA
20,000,000 20,000
oZetH EHel JIMIIE =2 HEESA
37,000,000 37,000
oS3 T8 S0 &2 MEESA
20,000,000 20,000
oS5t Tl ZE0E 2 WHSA
30,000,000 30,000
oZ3tH el SAI0IE dYZ MEES
Ab 20,000,000& 20,000
oS3t Al HNHES0le =2 ZESA
50,000,000 50,000
ottNE 2de| 2L0IS 2 HUISA
20,000,000 20,000
odME =2l stallE =2 EHISA
20,000,000& 20,000
o ME Al A0S 2 HHISA
20,000,000 20,000
ot NE A0 SA0IS AFAI|ISA
20,000,000 20,000
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S A
M sEXNGREY
ool SE™FEI|MEY
S A - BRI - NRA - BES of e A
oM FEol 2E0l= SHEXSAM
50,000,000& 50,000
ot NE 2o MSOIS =2 FHISA
35,000,000& 35,000
optME A2l ME0E s2 SEESA
25,000,000 25,000
ot HH el =S0IS 22! THEEIA
20,000,000& 20,000
oA MEE| 42012 ti+=2 FH|l &
2t BXISA 40,000,000& 40,000
ofAHE dDlel KREOS MUZ HHISA
35,000,000 35,000
o HH AtECl AIEOIE ##H HISA
20,000,000& 20,000
oA R4l RHOIS 22! THEXEIA
45,000,000 45,000
ofAHH =2 SIS BEXIZE XS
At 15,000,000 15,000
oA sdel AAMIE =2 ZHISA
20,000,000& 20,000
oEEM Yol S0 o2 NEEE
At 40,000,000 40,000
SEED TAR| SADIS 012 WEEBA
30,000,000 30,000
cHBM 352 ABS0IS 9L WEEI
Ab 20,000,000& 20,000
oEM el LMOIS =2 FHISA
30,000,000& 30,000
o2EH SFel HolillS =2 HHISAt
35,000,000 35,000
oEEM 0tx2| AIS0I2 =2 FEISA
30,000,000& 30,000
oMM Foip| WHOIS 02 HERTA
20,000,000 20,000
SAAY BER| HANIS 02 HEHTA
30,000,000 30,000
oNaH &&lcl SEllE s ZE3M
20,000,000& 20,000
oANyH 2l F20I= == EXISA
20,000,000 20,000
oNaH 2| 2H0IS =2 EXISAt
30,000,000 30,000
oNad Zate| =012 =2 ZHISA
35,000,000& 35,000
o=s2H el HEHOIS =2 FHISA
20,000,000 20,000
o=sgH dHe| EYils 52 ZHISA
35,000,000 35,000




SN A
B SEX|CNY
SEPREES ESIITES~ CERE)
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35,000,002
oS5 8F2| UTOIS B4R FUITA
30,000,0002

20,000

30,000

15,000

30,000

30,000

20,000

30,000

20,000

28,000

30,000

15,000

30,000

30,000

30,000

50,000

20,000

50,000

10,000

12,000

30,000

20,000

20,000

35,000

30,000




S AT
M sEXNGREY
ol SEFFIIERY
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oZEH 2F el Haille o2 ZEHSA
20,000,000& 20,000
oEEH US| BSll= SHEXSA
50,000,000 50,000
o2EH Ot=1cl HO0t=0tS == EHIAl
& 20,000,000 20,000
oEEH it d=0ls 5= MEESA
5,000,000& 5,000
oEEM 222 SH0IE 52 MEFSA
5,000,000& 5,000
oEH dS1e| OIS =2 SHEESAM
15,000,000 15,000
oZEH =12l IIMEDS OtAZTHEE
SAt 15,000,000 15,000
oZEH Ot=12| J0t=0t2 2 EHIAY
10,000,000& 10,000
oEEH S| AE0= =2 FHIS
At 25,000,000 25,000
o¥EH Y3l A40IS == HEISA
22,000,000& 22,000
oEEYU SF22 AUNitE s2 $EES
At 8,000,000& 8,000
oM&H UEel MEDOIS =2 ZHIAIY
20,000,000 20,000
oM&H UEel HW=0= =2 ZHIAIE
10,000,000 10,000
oMM B2 HANIS DR SRTA
30,000,000& 30,000
oMN&H S8l d4E0lE 242 EXI3A
25,000,000 25,000
oNad SHcl S80S =2 ZHISAt
35,000,000& 35,000
oANyH Z2c 220I= =2 ZUISA
30,000,000& 30,000
oMN&H Z2cl A0S =2 ZHISA
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15,000,000 15,000
o=0|H 242 =02 =2 ZdlISAt
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SJIEH AIRES 12,0002 x395 *43| 1,872
o&D| AUz 63,000+ 12& 756
oHEA=EZ 4,920
-=2X 18,0002 * 10123 2,160
NN 10,0003 *232+ 122 2,760
203 AR F=&lh| 4,860 4,860
M PA2IHRFALI 4,860 4,860
o300 F=1t
(400,000&+(5,000&*1H ) )x12& 4,860
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